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Chapter 8 From DNA to Proteins

8.2 Structure of DNA . Purines that have a two ring structure-
I. DNAis composed of four types of nucleotides i. Adenine (A)
A. Nucleotides are the units that make up DNA made ii. Guanine (G)
up of three parts: . Pyrimidines that have a single-ring structure-
1. 5-carbon sugar called deoxyribose i. Thymine (T)
2. Phosphate group ii. Cytosine (C)
3. One of four nitrogenous bases
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B. The backbone of DNA is made . Watson and Crick developed an
from alternating deoxyribose Sugar-phosphate backbone accurate model of DNA's three-
and phosphate groups. dimensional structure

h Nitrogenous base

C. The nucleotides join together in S ' A. X-Ray Evidence:
the center of DNA strand A et Rosalind Franklin used X-ray
- diffraction to show the structure of
DNA as a two strands in a helix

DNA polynucleotide —

theta - tilt of helix
(angle from perpendicular to long axis)

h=34A distance between bases

p=34A distance for one complete turn of helix
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C. The Double Helix:
1.

B. Erwin Chargaff found that the
amount of G and C were
always equal in DNA. The
same was true for Aand T.
Therefore he concluded, G
must bond with C, and Ato T.

2. From Watson and Crick’s
model, base pairing was
determined. The reason that
there were equal amounts of
Gand C,and Aand T were
because hydrogen bonds
held the two strands of DNA
together; three bonds for G
and C, and two bonds for A
and T.
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